LT K2 2002 4F
BLE R - 22 AL 50 A2\ 2 2 1R 1 i

1o he S |4 PENV£8 B A ZAFH R (1)
e ek B 45 2] 1 H 27 AR
FREEBEZER L, BB Frx)

« BRWMTES (BE 44, 352040

L. AR ARSAE ,_ 2. UrisE
3. 1ABRIH T ) 4. 1S — LM Ham

0. MR F A AL E
k., "ﬁﬁ[ﬂ‘Fﬂ%Eﬂ (Bt 8 7r, 332 43)
A LTRSS
20 ZESRZEW iR 1L,
3. BUFEH I}JUam#j_,/{:&ﬂ){fé’iﬁcﬁjjﬁfnllﬂn
- PR 2R R T AT SN BRI A (5] U R i

= mﬁtwuvr% (3£ 20 43)

13 *JL

, - RSP AER R TE -1 5, HAhsd 1.2 0/ A

DT RS ik 2 A0 A e A EL e Uk 10%2 (10 40)

2. MRETE—A=EIILHE D, W REECY C=100+0. 75Yd,  Yd

- AR Bk 1=380 12T, EURFTH Y G=400 12 ¢,
B T=0. 20Y, Y MR, K: (a) WEHERIC A, (b)
ERERIBUT S TR (o) QS BURF2 8 I 100 125t
X REFHAFRERE? (10 4))

U AT T B RN TR E AR, (12 4))

= e S

L RS ERG, KRN ARSI S AN
E/‘]"’tﬁjn (16 ﬁ})




